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INTERMEDIATE MACROECONOMICS 721346A
Exam 23.8.2019
Matti Koivuranta

1. Assume the following Solow growth model. Savings rate is s from which
it follows that investments I and consumption C are

I = sY
C = (1-yv)Y,
where Y is production. Production function is of Cobb-Douglas form:
Y = K°N'"°.
In above equation K is capital stock which has law of motion
K=(1-dK+I,

where d is the depreciation rate. Second argument of production func-
tion is labor force N. Labor force grows with rate n:

N' =(1+n)N.
Parameters have following restrictions:

0<sxl
0<fxl
0<d<l
n > 0.

a) Derive the law of motion for capital per capita (K/N).

b) Show that capital per capita (K/N) has a strictly positive steady
state which is stable.

¢) What does golden rule mean within the Solow model?

2. a) What does neutrality of money mean 7
b) What does Ricardian equivalence mean ?

c¢) What does governmeni expenditure maultiplier mean?



3. Following figure depicts the equilibrium of the closed economy one pe-
riod model. Analyze graphically the effects of an increase in govern-
ment spending G. In particular, find out what happens to employment,
output, consumption and real wage.
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